
Mounting System 
Solar Park

41
35

51
-0

1.
20

10

a) Solar Table Rammed System Parts List

1 2 3 4 5 6 7 8

MSP-HDG-RP MSP-AL-BPI MSP-AL-BP e.g. HST-R M12

e.g. HST-R M16

MSP-AL-SP M12×100 A2-70 M12 A4-70 MSP-AL-SC

9 10 11 12 13 14 15 16

MSP-AL-CC MSP-AL-BC MSP-AL-TC MSP-AL-XC MSP-HDG 

M12×130

MSP-HDG-TP M12 HDG M12×130 A2-70

17 18 19 20 21 22 23 24

25 26 27 28 29 30 31

MSP-AL-TP MSP-AL-LC MSP-AL-LS S-MD03S 

5.5×25

MSP-EC MSP-TFL-EC MSP-MC MSP-TFL-MC

M12x110 HDGMSP-AL-EAA 16 A13/24 A4 MSP-HDG-CIMSP-AL-CH 8 MSP-AL-BCH 8 M12x40 A2-70

c) Solar Table Cast-in System

b) Solar Table Concrete System

d) Solar Table Earth Anchor System

P
rin

t D
at

e:
 1

8.
03

.2
01

5 
09

:2
0:

09
 | 

P
rin

te
d 

by
: B

en
ja

m
in

 M
at

t |
 D

oc
um

en
t-

N
r:

 O
T

H
 / 

52
24

 / 
00

0 
/ 0

0 
| E

C
M

: 0
01

00
00

05
22

4 
| C

om
m

en
t: 

Printed: 30.03.2015 | Doc-Nr: PUB / 5222420 / 000 / 00



25
25

25
25

25
25

25

26

26

24 Md = 15 Nm

SW/AF = 5 mm

23

Md = 15 Nm

SW/AF = 6 mm

10b11

22

18
Md  = 15 Nm

SW/AF = 5 mm

8.2

> 18 m

max. 18 m18

19

20

20

18

12Md = 20 Nm

SW/AF = 6 mm

17

17 7

16

17

17 7

16

Md = 50 Nm

SW/AF = 19 mm

Md = 84 Nm

SW/AF = 19 mm

Md = 30 Nm

SW/AF 
= 

15 mm

15
14

13

5

11
5

5

11
5

1

1
11

12

90°

2

3

4

5

5

6
6

7 78

Md = 25 Nm

SW/AF  = 19 mm

1a

3

6

7

1

1

1b

1d

3

7

27

28

29

5

5

6
6

7 78

Md = 25 Nm

SW/AF   = 19 mm

Md = 50 Nm

SW/AF   = 19 mm

2b/c/d2a

11

10

11

9

4b4a

4d

5b 9.1

9.2

11

10

5a

5d5c

Md = 30 Nm

SW/AF = 15 mm

d = 50 Nm

SW/AF = 19 mm

M

M

d = 30 Nm

SW/AF = 15 mm

11

21

18

Md = 15 Nm

SW/AF = 6 mm

8.1

31

31

4c

11

Md = 84 Nm

SW/AF = 19 mm

Md = 30 Nm

SW/AF = 15 mm

15

30

31

31

1a1c

SW/AF = 8 mm

Md = 50 Nm

SW/AF  = 19

 

mm

P
rin

t D
at

e:
 1

8.
03

.2
01

5 
09

:2
0:

09
 | 

P
rin

te
d 

by
: B

en
ja

m
in

 M
at

t |
 D

oc
um

en
t-

N
r:

 O
T

H
 / 

52
24

 / 
00

0 
/ 0

0 
| E

C
M

: 0
01

00
00

05
22

4 
| C

om
m

en
t: 

Printed: 30.03.2015 | Doc-Nr: PUB / 5222420 / 000 / 00


